e L A =

* BRE AT ¢ AERH
CHEHRE

(—) ~ BRI RERELEL - WL EBRENEE -
(=) ~ SEBEPEIERGT A AL - WHERER AT R & RIAIRZCHY
G
(=) ~ HEEERE - BEERAEEEGIEE -
(M)~ BPEE BT ~ BB S ELURRIEEH R IRE
(1) ~ BEEALES - BARERETT > W3S REE -
(73) ~ B NN H G EhRH (% -
5=V
(—) ~ ERFZIFTARE -
(=) ~ BFEBFTARE -
(=) ~ ROHERHECHE -
(W) -~ HEMAAEER -
(f1) ~ DHEREZERET -
CBE B RRES REA > BEERRE = ERFERE > W hEHE
HELRRE R -
C SIS B R [EE
s E Rl BRECE B Z I ER AL - (B A 2sh BT
EENGAT ¢ ATEREREE -
B ERAERIEZ S B E BN AR BT AEMRE -
R IANC K
(—) ~ BRER
1 2R ] -

2.

(=) »
1.

2.

(1) ZBR#E
(2) H+8
(3) H+/\E
N
(1) SBNBEERE —ITHBERRR
(2) B+ ERERE IHAE AR
(3) ST/ UHRRREER 2 8E - BEEhd prE RAS BLEc ek
(4) FERERER Ryl S ianBRY T RIS - S8R B RaR
AR EER
ERAYHRF -
(1) B
(2) SME2H
(3) HiEEE)
(4) MBS EEXSG

P
(1) BFH— -~ - SRR

(2) BT A 12 - EEI RS

(3) BRI B S RS T, - 4R TR



# E SR W

S TR TS

G| bSTIEET RSk S b P E
FHEBIBA

fEHAE ~ FRESUE ~ IREEER - WEER
IIMTER ~ BRI

B ~ TIEDER T ~ TAEHC
BUFSEIE - Mk ~ SHEBL g

R EEFR

FIEBBA

sEEE ~ FREFUE ~ IRFIEER ~ R
IITER ~ SRR

BT  TIEPERT ~ TIEHC
BYEEEIE

A~ R B R AR

RREETR - IR R AR AE
F=IHEENRA

fEAE ~ FREEFUE ~ IREIEER - WEER
IMTER ~ SRR T

BERFRRET R~ TIEVER T ~ TIETRC
BYEEELE

A~ PP B R

R EETR - ERIRR BB B A B (S5

SRR 33 AN g e N ER R S (PR R O )

S R R i B T ER A R

SHA BB e At A - FEEERHS = SRR A > pleAEim A 52K

EAES S o



BIREEIHE ¢

HEek

]

HEFRE

[T
SR

i
HEFRE

i
Refe] -

A -

— -+ LED &

&H

=

BEgE

&H

%2



ﬁ_.
TSRS (—) aERE

HEk Al -

B T PE & |EEER [ & | K BETE




=
ATEREERE RS (2 BESEEAREN TR

HEek &l - HEEHR - HEHEZ

R LARIA O R REER P SR A DR » RS =R RIAEGT % (WA FEZ
BITEARZNEE) - MERIRERT

EE— 5

AT 3REH

= ERHA




r=
AERHERE RS (=) BERENTE

HEek &l - HEEHR - HEHEZ

— ~ (KR AR = REAE I > AT EGEL o ME R T
(IEGEE IS - AIREFT ERPETHE > AFE T+ o BT 20 AR &R
HIEE - RFE T-o BT 20 mI&EtE vy -0 88557 METHIE:
NEF = )

HoOH mEL | A2 | A3

+ - + - -

1 BEfR I EMAA Y R RENE ?
2 BE(E PR E R SE A 2
3.5 F B2 Alits E AR 2
4 BEIE R AR, ?
5/NE N BB E T RCE 2
6.FT R AR BE S 2
7.0 R T EAEESIE ?
8. HRIEN ?
9. U SR E R 7T I 7
10.FT & A EE L 2
/I ) + - + - +
4 G

& & JE Fp

o RERRAMERE 100 2L 3L



=
AVERHER RS () BASeagst TIE

DEaR - A - HEEHR - HEHEZ
— EHIE

T B % & | K8 B |BE| T B % 8| K8 %

= {EAMR

MOoE A MR (BE MO B | R R BE

= LIEPER (BHEZENTEDER)

10

11

12

13

14

15

(ool IENERe N RV, BNy RUCH | NN

16







£l

AVERHCEREEHE (1) W - ePsEsEneE

H#: £ H HGE )

AR B R

P&k

&A1 -

SH B RESR -

HoOH At

i

iyl

\[T
/|

K

=111

op

K

BRI

RS Ui

iis,

Bl IEE S

BEERETE

TAEF BRIt

TAEHEC

(SiEIPa

e

ek

| O | | v

DDDDDDDDDDN}&

O s

A
TR

eGSR S B G TR B S

3

Sl

B

2 BT E




